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timE 10 0 10 0 0 0
EARE 2 0 2 2 0 2
=F8 14 0 14 13 0 13
=51 10 0 10 4 0 4
AR 7 0 7 7 0 7
LR 1 0 1 1 0 1
RBE 7 0 7 7 0 7
FRER 7 0 7 5 0 5
TR 37 0 37 29 0 29
AR 18 0 18 14 0 14
BB 12 0 12 8 0 8
BER 25 0 25 10 0 10
FER 6 0 6 5 0 5
BR 54 0 54 40 0 40
MR IR 3 0 3 2 0 2
aE™ 9 0 9 4 0 4
JIET 2 0 2 2 0 2
LLZLIE 7 0 7 4 0 4
EHE 15 0 15 11 0 11
]! 15 0 15 10 0 10
B8 16 0 16 11 0 11
ZhEM 4 0 4 2 0 2
=1 13 0 13 12 0 12
=7l 2 0 2 1 0 1
==ci= 7 0 7 4 0 4
AN 12 0 12 5 0 5
alllg 0 0 0 0 0 0
BHE 0 0 0 0 0 0
HEE 21 0 21 2 0 2
RED 1 0 1 1 0 1
AR 46 0 46 31 0 31
aEIR 25 0 25 20 0 20
=R 9 0 9 7 0 7
AL 3 0 3 2 0 2
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BRE 5 0 5 4 0 4
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LBER 3 0 3 3 0 3
wAe 7 0 7 6 0 6
==t 12 0 12 8 0 8
mBER 3 0 3 3 0 3
SR 14 0 14 7 0 7
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pi{FA]LY 4 0 4 4 0 4
HER 13 0 13 7 0 7
RIFE 13 0 13 9 0 9
AERIE 10 0 10 2 0 2
Pawai) 5 0 5 5 0 5
SFiFE 7 0 7 6 0 6
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